
JP Maths Revision 

 
 

1. Solve the following simultaneous equations  

 

 7𝑥 + 2𝑦 = 46 
  𝑥 + 2𝑦 = 10

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =
 

(3 marks) 

______________________________________________________________________________ 

 

2. Solve the following simultaneous equations  

 

 6𝑥 + 𝑦 = 20 
 𝑥 + 𝑦 = 5 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

-

6. sea 36

✗ = 6

6+29=10
29=4

9--2 6
2

-

5x= IS

✗ =3

5. + y = 5

y=0

3

0
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3. Solve the following simultaneous equations  

 

 𝑥 + 8𝑦 = 36 
  𝑥 + 𝑦 = 1

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

 

4. Solve the following simultaneous equations  

 

 7𝑥 − 4𝑦 = 22 
 3𝑥 + 4𝑦 = 8 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =
 

(3 marks) 

______________________________________________________________________________ 

-

79=35

y=S

acts = I

✗ = -4

-

4g

+

102C = 30

←=3

3 (3) +4g = 8

4g = -1

y = -2
,

= -0-25

3kt 4 (-0-25)=8
3

3.x - I = 8

- 0.25
3x= 9

✗ =3
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5. Solve the following simultaneous equations  

 

 3𝑥 + 2𝑦 = 12 
  𝑥 − 2𝑦 = 4

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

 

6. Solve the following simultaneous equations  

 

 12𝑥 − 5𝑦 = 20 
 8𝑥 − 5𝑦 = 16

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

+

4K =/ 6

✗ = 4

4-29=4
- 29=0

y=o

:

-

4K=4

✗ = I

8- Sy = 16
- Sy = 8

y = -8

g.
= -1.6

I
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7. Solve the following simultaneous equations  

 

 3𝑥 − 8𝑦 = 17 
  7𝑥 − 8𝑦 = 5

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

 

8. Solve the following simultaneous equations  

 

 3𝑥 + 7𝑦 = 4 
 2𝑥 + 5𝑦 = 1 

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

-

- 4K = 12

x =-3

7- C- 3) - Sy
= S

-21 - Sry = 5

- Sry = 26

y =
-

¥ = - =-3 -25

- 3

- 3.25

✗ 2

✗ 3

Gac +14g = 8
-

bae +15g = 3

- ly -

- s

y = - s

3x + 7- C- 5) = 4

3K -35=4

3×-39

✗ = 13 13

- 5
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9. Solve the following simultaneous equations  

 

 4𝑥 + 𝑦 = 5 
  5𝑥 + 3𝑦 = 1

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

 

10. Solve the following simultaneous equations  

 

 3𝑥 + 2𝑦 = 6 
  𝑥 + 6𝑦 = 8

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

÷

12k 1- 3g = IS
-

5kt 3g = I

7- x = 14

✗ = 2

4 (2) + y = 5

81-9=5

ya -3 2

-3

✗ I

✗ 3

3kt 2g = 6
-

3kt 18g = 24

- 16g = -18

y =
-

÷ =3

x+6(%) = 8 E-
÷x -15¥ = 8

✗ = 8- 5¥ =

¥ =

§
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11. Solve the following simultaneous equations  

 

 4𝑥 + 𝑦 = 5 
  5𝑥 + 3𝑦 = 1

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

 

12. Solve the following simultaneous equations  

 

 3𝑥 − 2𝑦 = 2 
  5𝑥 − 3𝑦 = 1

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

✗ 3

✗ I

12×+39=15
-

5kt 3g = I

7>2--14

✗ = 2

5. (2) +3g = I

10 1- 3g = I

3g = -9 2

y= -3 -3

✗ 3

✗ 2

9k - by = 6
-

10K - by = 2

- Idc = 4 ⇒ a -_ - 4

3C- 4) -2g = 2

- 12 -2g = 2

- 2g = 14

9=-7
-4

-7
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13. Solve the following simultaneous equations  

 

 5𝑥 − 2𝑦 = 9 
  6𝑥 + 5𝑦 = 3

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

 

14. Solve the following simultaneous equations  

 

 11𝑥 − 2𝑦 = 13 
  2𝑥 + 3𝑦 =  − 1

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

✗ 5

✗ 2

25.x - toy = 4 5

+
12K + toy = 6

37k = 51

9C = 51

-37

5( ¥ ) - ay = 9

¥7
22¥ - Zy = 9

-

¥-4
-2g = 9-2%7=1%7
y = -10¥

= -5¥

✗ 3

✗ 2

33.x - 6g = 39
1-

4k + 6g = -2

37K = 37

✗ = I

11-29=13

-2g = 2 I

-1y= - I
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15.  apples and  bananas cost .  4 2 £10
 apples and  bananas cost .  2 2 £8

Find the cost of  apple and  banana. 1 1
 

 

 

 

 

 

 

 

  

                    apple =      £ ………………. 1
          banana =   £ ………………. 1 

(3 marks) 

______________________________________________________________________________ 

 

16. The weight of  guinea pigs and  rats is .  3 9 11𝑘𝑔
The weight of  guinea pigs and  rats is .  3 2 5𝑘𝑔
Find the total weight of  guinea pigs and  rats. 5 5
Give your answer correct to 3 significant figures.    

 

 

 

 

 

 

 

 

 

 

 

 

         

        …………….    𝑘𝑔
(3 marks) 

______________________________________________________________________________ 

-

4at2b= 10

291-25=8

2A = 2

a-- I

4( 1) -125--10

4+25=10

2b -_ 6 I

b =3
3

36+903=11 3G -191¥ )= "-

3G + ZR = S
36=11 -5¥

7- R= 6
3G = 21

R=E 7

7 G-
_

,

5Gt SR

=

5×22,3-+5 ✗ §
976=

9.76kg
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17. A T-shirt costs  more than a jumper. £9
The total price of  T-shirts and  jumper is .  2 1 £36
Find the total cost of  T-shirts and  jumpers.   3 5

 

 

 

 

 

 

 

 

 

 

          …………… £ =
 

(3 marks) 

______________________________________________________________________________ 

 

18.   cups of tea and  cups of coffee cost . 3 3 £4. 20
 cups of tea and  cups of coffee cost . 2 4 £3. 80

Find the total cost of  cups of tea and  cups of coffee.  5 4
 

 

 

 

 

 

 

 

 

 

 

        

          …………… £ =
 

(3 marks) 

______________________________________________________________________________ 

 

T- J _- 9
+

2-1+5=36

3-1=45 3T-15J

-1=15
= 3×15+5×6

= 45+30

15-3=9 = -75

5=6
75

3-1-13 C = 4-20 ✗ 9

2T-14C = 3- 80 ✗ 3

12T-112C = 16.8
-

6T -112C = 11.4
5T -14C

6-1=5.40 = 5×0.91-4×05
-1--0.90 = 4.50+2

210-90 ) -14C -_ 3=80 = 6.50
6.50

I. 80 +4C =3 -80

4C = 2

c. = 0-50
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19. Solve the following simultaneous equations  

 

 𝑥 = 2𝑦 − 3 
  2𝑥 + 5𝑦 =  12

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

 

20. Solve the following simultaneous equations  

 

 5𝑥 = 3𝑦 + 18 
  𝑥 =  − 2𝑦 + 27

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
          …………… 𝑦 =

 

(3 marks) 

______________________________________________________________________________ 

2 ( 2g -3) + Sy = 12

4g - 6+59=12

9g - 6--12

99=18
9=2

✗ = 212) -3

I= I

2

5C-291-27) = 3g +18

-

toy -1135=39+18
- 13g = -117

y=9

✗ = -2 (9) +27

= -181-27 9

=q 9


